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1
Kl z9zmx [ NS [ EW | 25z2% | NS | EW | #1 | #2 | #1 ] #2 | #1 [#2 || Mean | Ns | EW
1| N [None] 2SE3 140 4SW-2 100 240 6 EW10 | -4 -3
2| E| NS 1INW-2 100 2HW?2 110 | 210 5 NSO 3 3
3| s |EW 4SW4 620 2NE-1 100 720 12 EW40 | -11 -4
4 | W |Both| 3HN4 170 3HN4 170 NS190 | -1 1
5| N | NS 3SE4 170 4SXW4 590 | 420 9 EW300 | 4 7
6 | E|EW| asxn2 300 3DXE3 670 | 370 9 EW190 | -3 10
7 | s |Both| 3Ns4 630 4SXE-2 | 500 130 4 NS500 | 4
8 | W |[None|] 3NEs 460 3NWS5 460 EW260 | -5 5
9| N|EW| 5Cxs- 100 5CS-1 50 50 2 EWS0 | -1 -
10 | E |Both| 1NS-1 100 1NS2 120 220 6 NS100 | -5 -
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1
b= H2%% | NS | EW | 64225 | NS | EW | #3 | #4 | #3 [ #4| #3|#4 || Mean | Ns EW
1 | N |None] 2sw2 110 3SW3 140 | 30 1 EW10 | -3 4
2 E NS 2HW-1 50 3HE-2 100 50 2 NSO 2 -3
3| s |Ew| 4swA 100 4SW-2 200 100 3 EW40 | 4 6
4 W |Both 2HXN4 1070 2SW2 110 1180 15 NS190 13 7
5| N| NS 4HN-2 200 4SXW4 590 | 390 9 EW300 | 3 7
6 E | EW 2CE-1 100 4SXN-2 300 400 9 EW190 7 3
7 | s |Both| 3Ns3 600 5DS-1 100 | 700 12 NS500 | 3 12
8 W |None| 3NW5 460 6DE-1 50 510 11 EW260 -5 -7
9 | N|EW| ecxs-2 300 SHW-1 100 400 9 EW80 | -6 -5
10 | E |Both 1NS1 920 1NS1 20 NS100
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R R, NS | EW | &2 2% NS | EW | #5 | #6 | #5 | #6 | #5 | #6 Mean NS EW
1 N |None 4SW-3 150 2SE2 110 260 6 EW10 4 3
2 E NS 2HW2 110 3DE-3 150 260 6 NSO -3 -4
3 S | EW 2SW2 110 3DN-1 50 60 2 EW40 -2
4 W |Both 3SE-1 100 2HN4 170 70 2 NS190 -3 1
5 N | NS 4SE4 420 3HN-1 100 320 8 EW300 -3 -5
6 E | EW 1NS1 90 4SN-2 100 190 5 EW190 7 -3
7 S |Both 3NS3 600 3NS3 600 NS500 3 -3
8 W |None| 3NW5 460 6DE-1 50 510 11 EW260 -5 -7
9 N | EW 5HW-1 100 3HW3 140 240 6 EW80 5 2
10 | E |Both 4SXE-2 500 1NS1 20 410 9 NS100 9
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bl H2u% | NS | EW | ¢%=223% | NS | EW | #7 | #8 |#7 | #8| #7 | #8 || Mean | Ns EW
1 N |None 2SW-1 50 2SW-1 50 EW10 2 -2
2 E NS 2NN-1 100 2HW2 110 10 NSO -3 3
3 S | EW 3DN3 110 3DN-1 50 160 4 EW40 4
4 W |Both 2DN4 130 2SE2 110 240 6 NS190 -2 7
5 N NS 4HS-2 200 4HN-2 200 EW300 3 -3
6 E | EW 4SXS-2 300 2HS-1 50 250 6 EW190 -3 -4
7 S |Both 3NS3 600 3NN3 600 NS500 3 -3
8 W |None| 6DE-1 50 3NW5 460 510 11 EW260 7 5
9 N | EW 5CXN-1 100 3HW4 170 70 2 EW80 -1 3
10 E |Both 3CS3 110 1NN-1 100 210 5 NS100 5
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1
i EHEESE NS EW EHEESE NS EW #9 | #10 | #9 |#10| #9 |#10 Mean NS EW
1 N |None Averagg Averagg EW10
2 E | NS A Averagg¢ A Averagg¢ NSO
3 S | EW A Averagg A Averagg EW40
4 | W |Both A Averagg¢ A Averagg¢ NS190
5 N | NS A Averagg A Averagg EW300
6 E | EW A Averagg¢ A Averagg¢ EW190
7 S |Both A Averagg A Averagg NS500
8 | W [None A Averagg¢ A Averagg¢ EW260
9 N | EW A Averagg A Averagg EW80
10 | E |Both A Averagg¢ A Averagg¢ NS100
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1
Kl 29zmx [ NS | EW | 25z2% | NS | EW | #2 | #1 | #2 ] #1|#2 | # Mean | NS EW
1 N [None 4SW-2 100 2SE3 140 240 6 EW10 3 4
2 E NS 2HW2 110 1NW-2 100 210 5 NSO -3 -3
3 S | EW 2NE-1 100 4SW4 620 720 12 EW40 4 1
4 W | Both 3HN4 170 3HN4 170 NS190 -1 1
5 N | NS 4SXW4 590 3SE4 170 420 9 EW300 -7 -4
6 E | EW 3DXE3 670 4SXN-2 300 370 9 EW190 -10 3
7 S |[Both 4SXE-2 500 3NS4 630 130 4 NS500 -4
8 W |None 3NW5 460 3NES5 460 EW260 -5 5
9 N | EW 5CS-1 50 5CXS-1 100 50 2 EW80 1 1
10 | E |Both 1NS2 120 1NS-1 100 220 6 NS100 1 5
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1
i tyz 23 | NS | EW | 2¥22% | NS | EW | #4 | #3 | #4 | #3 | #4 | #3 Mean NS EW
1 N |None 3SW3 140 2SW2 110 30 1 EW10 -4 3
2 E | NS 3HE-2 100 2HW-1 50 50 2 NSO 3 -2
3 S | EW 4SW-2 200 4SW-1 100 100 3 EW40 6 -4
4 | W |Both 2SW2 110 2HXN4 1070 1180 15 NS190 -7 -13
5 N | NS 4SXW4 590 4HN-2 200 390 9 EW300 -7 -3
6 E | EW 4SXN-2 300 2CE-1 100 400 9 EW190 -3 -7
7 S |Both 5DS-1 100 3NS3 600 700 12 NS500 -12 -3
8 | W |[None 6DE-1 50 3NW5 460 510 1 EW260 7 5
9 N | EW 5HW-1 100 6CXS-2 300 400 9 EW80 5 6
10 | E |Both 1NS1 90 1NS1 90 NS100
B3 IMP| 25 |46 12 | 18
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1
¥l z9zmx [ NS | EW | 25z2% | NS | EW | #6 | #5 | #6 | #5 | #6 | #5 || Mean | Ns EW
1 N [None 2SE2 110 4SW-3 150 260 6 EW10 -3 -4
2 E | NS 3DE-3 150 2HW2 110 260 6 NSO 4 3
3| S |EW 3DN-1 50 28W2 110 60 2 EW40 2
4 | W |Both 2HN4 170 3SE-1 100 70 2 NS190 -1 3
5| N | NS 3HN-1 100 4SE4 420 320 8 EW300 5 3
6 E | EW 4SN-2 100 1NS1 90 190 5 EW190 3 -7
7 | S |Both 3NS3 600 3NS3 600 NS500 3 -3
8 | W [None 6DE-1 50 3NW5 460 510 1 EW260 7 5
9 N | EW 3HW3 140 5HW-1 100 240 6 EWS80 -2 -5
10 | E |Both 1NS1 90 4SXE-2 500 410 9 NS100 -9
w3 IMP|29 |26 16 | -12
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B# | DL | £ % MPE 2HE E& 3 R% R A~ COP Datum
1
bl H2%% | NS | EW | 6%=223% | NS | EW | #8 | #7 |#8 [ #7| #8 | #7 || Mean | Ns EW
1 N |None| 2SW-1 50 2SW-1 50 EW10 2 -2
2 E NS 2HW2 110 2NN-1 100 10 NSO -3 3
3 S | EW 3DN-1 50 3DN3 110 160 4 EW40 -4
4 W | Both 2SE2 110 2DN4 130 240 6 NS190 -7 2
5 N NS 4HN-2 200 4HS-2 200 EW300 3 -3
6 E EW 2HS-1 50 4SXS-2 300 250 6 EW190 4 3
7 S [Both 3NN3 600 3NS3 600 NS500 3 -3
8 W |None 3NW5 460 6DE-1 50 510 11 EW260 -5 -7
9 N | EW 3HW4 170 5CXN-1 100 70 2 EWS80 -3 1
10 E |Both 1NN-1 100 3CS3 110 210 5 NS100 -5
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i tx223x | NS | EW | 5223 | NS | EW | #10 | #9 [#10| #9 [#10]| #o Mean NS EW
1 N |None EW10
2 | E|NS NSO
3|8 |EwW EW40
4 | W |Both NS190
5| N| NS EW300
6 | E|EW EW190
7 | S |Both NS500
8 | W |None EW260
9 | N |EW EWS80
10 | E |Both NS100
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